

#### 7.1.4 Environmental Consciousness and Sustainability

# **INDEX**

Sr. No.	Particulars	Page No.
1	Photographs of LED bulbs	1-2
2	LED bulbs purchased bills along with purchase	3-8
	orders and Vouchers	



Corporate office Porch with LED bulbs



College Canteen with LED bulbs



College Library with LED bulbs

	Cash / Credit Mem	2		
	FIROZ SHE	IKH		
	ELECTRIC CONTR	ACTOR		
No. 499	Matruseva Sangh Chowk, Mahal, Nag	pur. (M) : 9823	3786733 Date	16/11/2017
	ilijvanji - Gaikwad - Pat	if eng	g Co	lese
2	Wordha Road. moahge	con, N	hgp 42	
SR NO	PARTICULARS	QUANTITY	RATE	AMOUNT
12	Supply & Installation	190	4751	90,2507
2	& LED TE TOTO TOTAL		-	25-01
2)	50 Watt 150 Street	13	275	-35,75 F
	light			
				1/
		-		
-				
-				
-				
-				
		TOT	AL RS	1, 26,000/
Than	king You		For Firoz Shu	ikh
CS Star		Eli	ectric Con	tractor
Cam				

LED purchase bill

G

# Vidarbha Bahu-uddeshiya Shikshan Sanstha's NAAC Accredited with 'B' grade TULSIRAMJI GAIKWAD-PATIL College of Engineering & Technology



E-mail: vidarbhabuss@yahoo.co.i

Ojaswini Comple

Nagpur - 440 02

Tel: 0712 664 825

Fax: 0712 224 065

Gayatri Nagar, IT Park Roa

Mohgaon, Wardha Road, Nagpur - 441 108 Tel: 07103-645410 Mob: 09922966173 Approved by AICTE. New Delhi, Govt. of Maharshtra & Affiliated to RTM Nagpur University E-mail: principal@tgpcet.com Website: www.tgpcet.com An ISO 9001:2008 Certified Institution

#### PURCHASE ORDER

P/O. No. TGPCET/17-18/ 5 50

Date:- 15/11/2017

To, FIROZ SHEIKH NAGPUR.

#### Subject:- Purchase Order for supply of Electrical Material

Respected Sir,

With reference to discussion held with you, we are placing herewith the order for supply of **Electrical Material** on the terms and conditions mentioned below in this order.

Sr. No.	Name of Item	Rate	Quantity	Amount (Rs)
1.	LED 12 Watt Bulb	475/	190	90250/-
2.	LED 50 Watt Bulb Street Light	2750/-	13	35750/-
	Total.		-1	126000/-

Rs. One Lack Twenty Six Thousand Only.

Terms and Conditions:-

1. FOR : Tulsiramji Gaikwad-Patil College of Engg.& Tech., Nagpur

2. Payment : 100% Against Delivery.

3. The invoice in triplicate to be raised Tulsiramji Gaikwad-Patil College of Engg.& Tech, Nagpur .

PATIL CO

NAGPUR

AMJI

STORE INCHARGE

Copy to

Aurei

PRINCIPAL Principal Tulsiramji Gaikwad-Patil Colling Engineering & Technolog Nactour

CHAIRMAN

Principal

Engineering & Technology, Magpur

.opy to

- Store SectionAccount Section
- Hon'ble Secretary

T.G.P.College of Engineering & Tech Mohagao Wardha Rd. Nagpur

### Journal Voucher

.

Particulars		Debit Credit
Electric Materials	Dr	the second second second particular and second
To Firoj Sheikh	Dr	1,26,000.00
,		1,26,000.00
	•	
On Account of :		
	from Firoz Sheikh for Electric	
material purchase bill date	d 16.11.2017	
		₹ 1,26,000.00 ₹ 1,26,000.00
		.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		~
		Authorized Similar
		Authorised Signatory
AM	ale .	Q
deared by	Checked by	
		Verfied by
	SANNAD-PATIL COLLEG	True Copy Atteste
	San 16	The copy filloc
	SEAL OF ENG	Allher
	AL SEAL	10000
	- F	Principal
	* MAGPUR * HT31	Tutsiramji Gaikwad-Patil Colle Engineering & Technology
	OFUR A	Nagpur
	<u>)</u>	
	• •	
•		
·	•	

	Cash / Credit Memo			
No 465	ELECTRIC CONTR Matruseva Sangh Chowk, Mahal, Nagr Usinamji Gaikusad Po klardha Road, Moaho	ACTOR pur. (M) : 9823	Date	19/01/2018 Uge.
SR NO.	PARTICULARS	QUANTITY	RATE	AMOUNT
(1)	Supply & metallation of 15 watt LED Bulb	375	290/-	108,750
(2)	10 walt LED	255	235/-	59,925
		тот	A L RS	1.68.675/-
Than	king You	El	For Firo <u>ZS</u> ectric <del>Co</del>	isiki

LED bulbs purchased bill



# Vidarbha Bahu-uddeshiya Shikshan Sanstha's SIRAMJI GAIKWAD-PA College of Engineering & Technology



Ojaswini Complex Gayatri Nagar, IT Park Road Nagpur - 440 022 Tel: 0712 664 8252 Fax: 0712 224 0656 E-mail: vidarbhabuss@yahoo.co.in

Mohgaon, Wardha Road, Nagpur - 441 108 Tel: 07103-645410 Mob: 09922966173 Approved by AICTE, New Delhi, Govt. of Maharshtra & Affiliated to RTM Nagpur University E-mail: principal@tgpcet.com Website: www.tgpcet.com An ISO 9001:2008 Certified Institution

## PURCHASE ORDER

NAAC Accredited with 'B' grade

P/O. No. TGPCET/17-18/735

Date:- 08/01/2018

To, FIROZ SHEIKH NAGPUR.

## Subject:- Purchase Order for supply of Electrical Material

Respected Sir,

With reference to discussion held with you, we are placing herewith the order for supply of Electrical Material on the terms and conditions mentioned below in this order.

Sr. No.	Name of Item	Rate	Quantity	Amount (Rs)
1.	LED 15 Watt Bulb	290/-	375	108750/-
2.	LED 10 Watt Bulb	235/-	255	59925/-
	Total.			168675/-

Rs. One Lack Sixty Eighty Six Thousand Six Hundred Seventy Five Only.

Terms and Conditions:-

- 1. FOR : Tulsiramji Gaikwad-Patil College of Engg.& Tech., Nagpur
- 2. Payment : 100% Against Delivery.
- 3. The invoice in triplicate to be raised Tulsiramji Gaikwad-Patil College of Engg.& Tech, Nagpur .

D-PATIL CO

STORE INCHARGE

Copy to

- Store Section
- Account Section
- Hon'ble Secretary

rincipal Tulsiramji Gaikwad-Patil College of Engineering & Technology, Nagpur

HAIRMAN

Principal Tulsiramji Gaikwad-Patil College Engineering & Technology, Nagpur

T.G.P.College of Engineering &Tech Mohagao Wardha Rd. Nagpur

Journal Voucher

.

Particulars -		Debit	Cree
Electric Materials	Dr	1,68,675.00	
To Firoj Sheikh		ar F	1,68,675.0
· · · ·		P	
On Account of : Being bill no 465 Dated 09.01.2018 received from Firoz			
Sheikh for purchase of electric material			
	₹	1,68,675.00	₹ 1,68,675.
Am by SEAL College Checked by			
and the second		Authori	sed Signato
	Constant of the local division of the local	A DESIGNATION OF THE OWNER OF THE	,
And SEAL )	Tru	e Copy Attes	1,4
Checked by	Carnet Control (1)	-P) mico	Verified I
* MAGPUR * 183		Rollin	
OPUR _		Princip	bal
	Tuls	Famil Gaikwad-I	Patil Colleg
		Engineering & To	echnology.
		Nagpu	r
		~	
· · · · · ·			
	~	/	
		Ģ	
•	· *		,
•••		 ≉	
· · · ·			· . · ·
		2	

ł